N = 0l & At & Ml A

20179 & S0l& =Zd &
2N HESED
HE: +RBRRH
SRl AEHASHS N (SFIHA) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 461,739 459,921 1,818
J| 455,739
[ia 6,000
S=HEIZEH 461,739 459,921 1,818
J| 455,739
[ia 6,000
NS H(=EIMA) 461,739 459,921 1,818
J| 455,739
[ia 6,000
FOUXNAAE O & DBAIR 27,604 27,604 0
J| 27,604
101 @14l 17,604 17,604 0
J| 17,604
04 J12ZtHZ22 s+ 17,604 17,604 0
OFUXEAY 12
51,760& = 1@l % 275,077 14,238
J| 14,238
OFUXEAY 2 AHEE =S
14,237,985& * 0.153 2,179
J| 2,179
OIS0 &€= 14,237,985& = 1/12 1,187
J| 1,187
201 £B-2dH| 5,600 5,200 400
J| 5,600
01 At 2t 2l 5,600 5,200 400
Olger=&tl] 5,180
OFUXNIAMTEIN L DBXE AIS+=EH|
5,180,000& = 14 5,180
J| 5,180
Ol=&Hl] 420
O=FC8X& % DBAIHAY =&l
7,000& * 62 = 10 420
J| 420
202 Odl 3,840 3,960 A 120
J| 3,840
01 = LH 4 Hi 3,840 3,960 A 120
OJI=ZA & AtLFTAEHEH 08I
20,0003 = 621 = 32¢ 3,840
J| 3,840
301 et a 3z 560 840 A 280
| 560
09 EAEHIE &S 560 840 A 280
OFUXJAY =239 &I AH 24
7,000& * 400! * 23| 560
J| 560




SN BHRHD
B 2BHBH
Sl ARHLSHE N (FHA) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FU X ALY 348,097 347,279 818
J| 348,097
307 2Iztol ™ 140,080 138,000 2,080
J| 140,080
02 IZHE M AHE L 140,080 138,000 2,080
OFXHAAS (HEXE)
1,030,000& * 136AlCH 140,080
J| 140,080
402 QI2H X201 M 208,017 209,279 A1,262
J| 208,017
02 2IZE 2 AL EZ (OIS ) 208,017 0 208,017
OFUXAASG (2HE X&)
208,017,000& * 14 208,017
J| 208,017
a2 XS 22 39,000 38,000 1,000
J| 39,000
101 @124l 19,400 18,000 1,400
J| 19,400
04 JIZHHNZ2Z2XNSE+ 19,400 18,000 1,400
O% zel ogel
1,760 = 1¢1 x 239.06& 12,374
J| 12,374
Ospipozelos ai2az
12,373,999& * 0.153 1,894
J| 1,894
O+¥TABLS SNIHELD
12,373,999&  1/12 1,032
J| 1,032
O==EZAMI[=)] 2L
51,760& = 10Q! = 7.921& 4,100
J| 4,100
201 Let24d] 16,200 15,500 700
J| 16,200
01 At 22/l 8,500 8,000 500
Olger=&tl] 5,000
O4¥RA ADEA L2
5,000,000& = 14 5,000
J| 5,000
Oolm=tl] 2,000
O%BPA & = L AESTPY
250,000& = 8¢l 2,000
J| 2,000
Ol=&Hl] 1,500
O ze S|
7,000 = 62! = 35.71 1,500
Jl 1,500




SN BHRHD
B 2BHBH
Sl ARHLSHE N (FHA) (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 7,700 7,500 200
O[AM&&Hl S X4l 1,200
octuEXE s 4X € B+
1,200,000 = 14! 1,200
| 1,200
O[xtg - detdl] 6,500
OHIAY 22X RAY|
6,500,000& * 14 6,500
| 6,500
202 O4dl 3,400 4,500 A 1,100
J| 3,400
01 SLHOYI 3,400 4,500 A 1,100
O+#TA 220/Y
20,000& = 62! = 28.33& 3,400
| 3,400
eEsdAeHE NA 41,038 41,038 0
J| 41,038
207 A RO 41,038 41,038 0
J| 41,038
01 A2 ESHI 41,038 41,038 0
OgEEael A AIHAE Ol HE It
40,000,000& = 14 40,000
J| 40,000
OgEdael A2ZAd Z2LHE
1,038,000& * 14 1,038
| 1,038
ol Bl Bl 6,000 6,000 0
801 GilHI bl 6,000 6,000 0
01 Eroildl bl 6,000 6,000 0
Ouoldl gl 6,000,000& = 14 6,000




